

Create Event Design 10621 Midway Ave. Cerritos, CA 90703 (562) 474-8222

ORDER #006399

Cyrano Rox Experience 530 Molino St Suite 104 Los Angeles, Ca. 90013

Order Date: May 13, 2025 Due Date: Upon Receipt

PO:

Shipping Address: 777 W Convention Way, Anaheim, CA 92802

EVENT DATE: JUNE 9TH - JUNE 11TH 2025

INSTALL: SUNDAY 6/8 TIME TBD

RETURN: WEDNESDAY AT 7AM *EVERYTHING MUST BE SET BY 5PM*

PICK UP: WEDNESDAY 6/11 TIME TBD

escription		Qtty	Price		Total
unday, June 81	h Delivery				
	THREE ARCH SHELVING PANEL SHELVES IN WHITE COLOR COVER SCONCE HOLES MADE ON THE WALLS CUSTOM COLOR: LIGHT MAUVE + DARK MAUVE	1	\$1,500.00	Т	\$1,500.00
	Custom Decal (ARCH PANEL) "FOR YOU WITH YOU"	1	\$126.00	Т	\$126.00
	Darzy Ottoman, Blush Velvet	8	\$75.00	Т	\$600.00
	Ayla Sectional, Natural Linen	10	\$175.00	Т	\$1,750.00
	Ava Arm Chair, Cream	12	\$150.00	Т	\$1,800.00
	Kanda Side Table	8	\$45.00	Т	\$360.00
	Los Angeles Dj Booth - Black Gloss - 6ft IN THE BEST CONDITION - RE WRAP THE BOOTH	2	\$250.00	Т	\$500.00
	Custom: "Welcome Committee Ambassador" on Foam Board (2 1/2' Tall x Wide) DECAL INCLUDED	1	\$55.00	Т	\$55.00
	Chanelled Arm Chair, Black	2	\$150.00	Т	\$300.00

Description		Qtty	Price		Total
	Emory Cocktail Table, White	8	\$120.00	Т	\$960.00
A	Flynn Dining Chair, Natural	48	\$22.00	Т	\$1,056.00
	Pink Carpet (CYRANO ROX) SHIPPED TO THE WAREHOUSE (CERRITOS)	2	\$0.00	Т	\$0.00
	Panton Arm Chair, Dusty Rose	6	\$150.00	Т	\$900.00
	Sofia 360° Bar, White	1	\$1,800.00	Т	\$1,800.00
	Custom Decals (FOR SOFIA BAR)	12	\$38.00	Т	\$456.00
	Purple Checkered Rugs SHIPPED TO THE WAREHOUSE (CERRITOS)	2	\$0.00	Т	\$0.00
	White Astroturf Runner, 6ft x 20ft	2	\$150.00	Т	\$300.00
	Visqueen Plastic Roll, 20ft x 100ft	1	\$195.00	Т	\$195.00
	Acrylic Podium #2	1	\$150.00	Т	\$150.00
		Total Sunda	ay, June 8th Deliv	/ery	\$12,808.00
unday - Loung	je Set (Montauk) Montauk Sofa, Light Wash 8'	Total Sunda	ay, June 8th Deliv \$875.00	/ery T	\$12,808.00 \$1,750.00
unday - Loung					
unday - Loung	Montauk Sofa, Light Wash 8'	2	\$875.00	T	\$1,750.00
unday - Loung	Montauk Sofa, Light Wash 8' Montauk Sofa, Light Wash 6'	2	\$875.00 \$0.00	T	\$1,750.00 \$0.00
Sunday - Loung	Montauk Sofa, Light Wash 8' Montauk Sofa, Light Wash 6' Montauk Coffee Table, Light Wash	2 2 2 2	\$875.00 \$0.00 \$0.00	T T T	\$1,750.00 \$0.00 \$0.00

2 4 2	\$875.00 \$0.00 \$0.00	T T	\$1,750.00 \$0.00
		Т	\$0.00
2	\$0.00		
	<i>••••••</i>	Т	\$0.00
6	\$0.00	Т	\$0.00
4	\$0.00	Т	\$0.00
al Sunday - L	ounge Set (Infir	nity)	\$1,750.00
2	\$950.00	Т	\$1,900.00
4	\$0.00	Т	\$0.00
2	\$0.00	Т	\$0.00
2	\$0.00	Т	\$0.00
6	\$0.00	Т	\$0.00
4	\$0.00	Т	\$0.00
Lounge Set	(Panton Banque	ette)	\$1,900.00
1	\$240.00	Т	\$240.00
1	\$216.00	Т	\$216.00
1	\$25.00	Т	\$25.00
	4 al Sunday - L 2 4 2 2 6 4 2 2 4 2 4 2 2 4 2 2 4 2 4 2	4 \$0.00 al Sunday - Lounge Set (Infin 2 \$950.00 4 \$0.00 2 \$0.00 2 \$0.00 2 \$0.00 4 \$0.00 4 \$0.00 1 \$240.00 1 \$216.00	4 \$0.00 T al Sunday - Lourge Set (Infinity) 2 \$950.00 T 4 \$0.00 T 2 \$0.00 T 2 \$0.00 T 2 \$0.00 T 2 \$0.00 T 1 \$240.00 T 1 \$240.00 T

Description	Qtty	Price		Total
INCLUDE SANDBAGS FOR METAL STAND	4	\$0.00	Т	\$0.00
Custom: Decal (Mirror) "Diamond Glow" & "Instant Glow. Lasting Results" MIRROR PROVIDED BY CYRANO ROX	2	\$25.00	Т	\$50.00
Truss Structure with Platinum Silver Sleeve, 40ft x 10ft Height TO HOLD BALLOON WALL	1	\$1,270.00	Т	\$1,270.00
Custom: Decal for Arch Panels (Floral Pattern) CHANGE BACKING OF ARCH PANELS ALREADY ON SITE WITH FLORAL DESIGN	3	\$336.00	Т	\$1,008.00
Custom Decals (FOR SOFIA BAR) CHANGE SUNDAY DECALS TO NEW DESIGN	12	\$38.00	Т	\$456.00
Tota	l Wednesday	, June 11th Deliv	/ery	\$3,265.00
Services				
Trucking Fee (Round Trip - Sunday & Wednesday)	2	\$350.00	Т	\$700.00
Installation Fee (Sunday)	6	\$200.00		\$1,200.00
Installation Fee (Wednesday - Return)	4	\$275.00		\$1,100.00
Breakdown Fee	8	\$150.00		\$1,200.00

Notes

Total Products:	\$21,473.00
Total Labor/Services/Misc:	\$4,200.00
Taxes :	\$1,879.53
Discounts:	(\$2,388.45)
Total:	\$25,164.08
Payments:	(\$0.00)
Balance:	\$25,164.08